


25/05/2020         JESUS AND MARY SCHOOL AND COLLEGE         MODULE 4
CLASS-8 ( MATHS )                                                                                                                           
CHAPTER NAME – SQUARES AND SQUARE ROOTS
    
Note: Module-1 is referred to the Part-1 video uploaded for this chapter on 18th May, 2020.

TOPICS : 
· To find the square root of a perfect square number using Long Division Method.
· To find the square root of a decimal number using Long Division Method.
· Product and Quotient property of square roots.

SQUARE ROOT OF PERFECT SQUARE NUMBER USING LONG DIVISION METHOD

In our Part-1 video prepared for this chapter, we all learnt that-
· What is square and square root?
· How to find square of any number?
· How to find square root of a number using Prime Factorization Method?

When the numbers are large, the method of finding square root by prime factorization becomes slightly difficult. To overcome this problem we use long division method.  

Consider the following steps to find the square root of 784.

Step 1: Place a bar over every pair of digits starting from the digit at ones place. If the number of      
             digit is odd, then the left most single digit too will have a bar. Thus, we have .

Step 2: Find the largest number whose square is less than or equal to the number under the extreme 
             left bar. Take this number as the divisor and the quotient with the number       
             under the extreme left bar as the dividend (here 7). Divide and get the remainder (3 in this     
             case).                                                         
                                                                        
                                                                            
                                                                               


Step 3: Bring down the number under the next bar (i.e., 84 in this case) to the right of the remainder.
            So the new dividend is 384.
                                                                               
                                                                        

                                                                                


Step 4: We have to double the divisor i.e. 2 and write the result  on the left of 384.
                                                                                
                                                                        

                                                                           



Step 5:  Give a largest possible digit to fill the blank which will also become the new digit in the
               quotient, such that when the new divisor is multiplied to the new quotient the product is less 
              than or equal to the dividend.
                                                                                

                                                                        

                                                                           
                                                                               


In this case,  and ,
So, we will choose the new digit as 8 and get the remainder 0(zero).
 
Step 6: Since the remainder is 0(zero) and no digits are left in the given number, therefore
              

Note: Square root of a negative number is not possible. For example:  is not possible.

SQUARE ROOT OF A DECIMAL NUMBER USING LONG DIVISION METHOD

Consider the following steps to find the square root of 174.24

Starting from the decimal point, put bars on the pairs of digits from right to left and on the decimal part from left to right. Proceed exactly as the same way as explained above. So, do not forget to put the decimal point in the quotient as the decimal point in the dividend is crossed. Here the number of decimal places is even.
                                                                               
                                                                        
                                                                            
                                                                           
                                                                                   
 
                                                                                      


                                (Ans.)
Lets take another example.

Example: Find the square root of 19.64 correct to two places of decimal. 
 Solution:                                                                
                                                                        
                                                                           

                                                                                 
                                                                    
                                                                                    

                                                                                           


                               4.43 correct up to two places of decimal. 
Note: A decimal number (or a mixed decimal number) is a perfect square only when it has an even    
          number of digits in its decimal part. 

PRODUCT PROPERTY OF SQUARE ROOTS

i) For all positive real numbers a and b,

Example: 
Solution: 
                               
                               
                                (Ans.)
ii) For a real number a,

Example: 
Solution:  
                                     
                                      (Ans.)

QUOTIENT PROPERTY OF SQUARE ROOTS

For all positive real numbers a and b, b0:

Example: 
Solution:  
                                    
                                        (Ans.)

WORKSHEET-2

Q.1. Find the square root of the following perfect square numbers by division method:
     i) 7396              ii) 7921               iii) 4489               iv) 7744              v) 55696 

Q.2. Find the square root of the following perfect square numbers by division method:      
     i) 12.25             ii) 1056.25          iii) 998.56            iv) 1204.09         v) 14713.69

Q.3. Find the square root of the following:
      i) 42 correct to one place of decimal                        ii) 346 correct to two places of decimal
    iii) 67 correct to three places of decimal                   iv) 395 correct to three places of decimal
     v) 72.8 correct to two places of decimal                      vi) 4.2008 correct to three places of decimal

Q.4. Find  correct to 2 decimal places. 

Q.5. Find the value of the following:
     i)                       ii)                        iii) 

Note- Please do this assignment in your copies. It will be checked when the school re-opens.
***************



